12

9.5
1 25

N o 722( (202 )5 )
01 09
ECl1 12
12
95
11 1 25.
E Cl1
-0 . Mp

80 90

11



Nb. 31 (201) 02-0 9
45 1 16 20 - -
-m- X
40 . _— 14 1.8
n / N
35 | \\ . | 1.6
2 /'/ o T4 | .
30T By 410 =
(] 12 +
25 | / . = _
18 5 10 |
20 | ® . @ |
N 08 F
4 6
15 ¢ !\
S.. 4 06 F |
. __ i
Lo r x . 04 |
05 12 02 | |
0.0 T T T 0 0.0 . ‘ \ \ \ T
7/31 9/4 10/2 11/2 11/26 8/1 8/21 9/4 9/14 10/2 11/2 11/26
1 E Cl1 2 E Cl1
( 28 30 2 ) 30
1 ECl11
B r xi (Y% a
102 1 45. 1. 2 130 2 62
H28 108 117 0. 8 141 1 99
2) ns * % * % * * %
108 1 26. 0. & 1 56 2 57.
H30 113 1 14 0. B 150 2 33.
2) * % * % ns * % * %
28 28 11 16 28 11 21
30 30 11 21 30 11 26
Z * ** ns:
16 - 100%
15 A
80% =
1.4 A (]
0
13 | 60%
-]
1.2 A 40%
(]
1.1 A
20% m
1 4
0.9 ; . i . 0%
8/2 9/2 10/2 11/3 11/17
3 E Cl1 4 E Cl11
8 28 30 28 30 2

14

12

10

Brix)



